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Quiz 1

You scored 0 out of 100

Question 1

You did not answer the question.

Determine whether or not the given function is one-to-one and, if so, find the inverse. If f has an inverse, give the domain of f 1
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Question 2

You did not answer the question.

Determine whether or not the given function is one-to-one and, if so, find the inverse. If f has an inverse, give the domain of f L
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Question 3



You did not answer the question.
Determine whether or not the given function is one-to-one and, if so, find the inverse. If f has an inverse, give the domain of f L
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Question 4
You did not answer the question.
Determine whether or not the given function is one-to-one and, if so, find the inverse. If f has an inverse, give the domain of f L
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Question 5
You did not answer the question.



Determine whether or not the given function is one-to-one and, if so, find the inverse.
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Question 6

You did not answer the question.

Determine whether or not the given function is one-to-one and, if so, find the inverse.
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Question 7



You did not answer the question.

Which of the following represents the graph of the inverse of the given graph?
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Question 8
You did not answer the question.

Given the following function, with k as a constant, find the values of k for which f is one-to-one.
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Question 9

You did not answer the question.

Suppose that f has an inverse and f (5) = 6,f ' (§) = 2/3. What is (f 1 ) ' (6)?

a) 3
3
b) 4
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©) 3
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d) 3
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e) 4

Question 10

You did not answer the question.

Suppose that the given function fis differentiable, has an inverse and that f{1) = -7. Find (f e,
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Question 11

You did not answer the question.

Suppose that the given function f'is differentiable, has an inverse and that f{9) = 30. Find (f '1) ' (30).
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Question 12

You did not answer the question.
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Suppose that the given function f'is differentiable, has an inverse and that f{ 2 )= 2 . Find (f Ty 2 ).
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Question 13

You did not answer the question.

Use the properties of logarithms and the table given below to estimate In(56).

n In n n In n
| 0.00 6 1.79
2 0.69 7 1.95
3 1.10 8 2.08
4 1.39 9 2.2

5 1.61 10 2.30

a0 383
by 0 403
o 0 406
o O 163
o 443

Question 14

You did not answer the question.



Use the properties of logarithms and the table given below to estimate In( 445 ).

n In n n Inn
1 0.00 6 1.79
2 0.69 7 1.95
3 1.10 8 2.08
4 1.39 9 2.2
5 1.61 10 2.30
) 0 239
by o 218
o o 259
Qo L78
o 0 274
Question 15
You did not answer the question.
Estimate:
2.l i
In(2.1) =J - it

1

Using the approximation 1/2[LAP) + UA(P)] with P = {1 = 10/10, 11/10, 12/10, 13/10, 14/10, 15/10, 16/10, 17/10, 18/10, 19/10, 20/10,
21/10=2.1%.
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Question 16



You did not answer the question.

Taking In(5) is approximately 1.61, use differentials to estimate In(5.1).
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by 0 L63
o LT3
Q@ 158
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Question 17

You did not answer the question.

Taking In(5) is approximately 1.61, use differentials to estimate In(5.3).
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Question 18

You did not answer the question.

Solve the equation for x.
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Question 19

You did not answer the question.
Solve the equation for x.
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Question 20

You did not answer the question.

Solve the equation for x.

In((2x+3) (x+ 10)) =2 In(x+ 10
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